Tetris(N:=2) Slope Gaps:
#bins=100, #tiling points = 17
Time Taken: 3.71656 sec (0.0619426 mins)

Tetris(N:=2) Slope Gaps
#bins=100, #tiling points = 17
Time Taken: 3.71656 sec (0.0619426 mins)
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Tetris(N:=3) Slope Gaps: Tetris(N:=3) Slope Gaps:
#bins=100, #tiling points = 40 #bins=100, #tiling points = 40
Time Taken: 4.22406 sec (0.070401 mins) Time Taken: 4.22406 sec (0.070401 mins)
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Tetris(N:=4) Slope Gaps: Tetris(N:=4) Slope Gaps:
#bins=100, #tiling points = 167 #bins=100, #tiling points = 167
Time Taken: 4.49738 sec (0.0749563 mins) Time Taken: 4.49738 sec (0.0749563 mins)
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Tetris(N:=2) Slope Gaps
#bins=125, #tiling points = 17
Time Taken: 4.29506 sec (0.0715844 mins)

Tetris(N:=2) Slope Gaps:
#bins=125, #tiling points = 17
Time Taken: 4.29506 sec (0.0715844 mins)
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Tetris(N:=3) Slope Gaps: Tetris(N:=3) Slope Gaps:
#bins=125, #tiling points = 40 #bins=125, #tiling points = 40
Time Taken: 4.93219 sec (0.0822031 mins) Time Taken: 4.93219 sec (0.0822031 mins)
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Tetris(N:=4) Slope Gaps: Tetris(N:=4) Slope Gaps:
#bins=125, #tiling points = 167 #bins=125, #tiling points = 167
Time Taken: 5.04554 sec (0.0840923 mins) Time Taken: 5.04554 sec (0.0840923 mins)
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Tetris(N:=2) Slope Gaps:
#bins=150, #tiling points = 17
Time Taken: 4.86155 sec (0.0810259 mins)

Tetris(N:=2) Slope Gaps
#bins=150, #tiling points = 17
Time Taken: 4.86155 sec (0.0810259 mins)
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Tetris(N:=3) Slope Gaps: Tetris(N:=3) Slope Gaps:
#bins=150, #tiling points = 40 #bins=150, #tiling points = 40
Time Taken: 5.52066 sec (0.0920111 mins) Time Taken: 5.52066 sec (0.0920111 mins)
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Tetris(N:=4) Slope Gaps: Tetris(N:=4) Slope Gaps:
#bins=150, #tiling points = 167 #bins=150, #tiling points = 167
Time Taken: 5.7331 sec (0.0955516 mins) Time Taken: 5.7331 sec (0.0955516 mins)
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Tetris(N:=2) Slope Gaps
#bins=350, #tiling points = 17
Time Taken: 6.75483 sec (0.112581 mins)

Tetris(N:=2) Slope Gaps:
#bins=350, #tiling points = 17
Time Taken: 6.75483 sec (0.112581 mins)

0.5 1 25

140! T \ Coarse Histogram Distribution (pdf) i ! — Coarse Ristogram Distribution (cdf
™ = Approximate Derivative of cdf(x) / pdf(x)
— Coarse Histogram Distribution (cdf)
- Approximate Derivative of cdf(x) / pdf(x)
120 8
100 |- 8 200 |
—_— —
S GO ] =
o= = gs0l 1
© ©
@) O
G 60| 1=
100
o o
40 | g
501 1
20 b 1
0 L L L L 1 L 0 1 L L 1 L L 1
0.6 0.8 1 1.2 14 1.6 18 0.6 0.8 1 1.2 1.4 16 18
Tetris(N:=3) Slope Gaps: Tetris(N:=3) Slope Gaps:
#bins=350, #tiling points = 40 #bins=350, #tiling points = 40
Time Taken: 7.50019 sec (0.125003 mins) Time Taken: 7.50019 sec (0.125003 mins)
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Tetris(N:=4) Slope Gaps: Tetris(N:=4) Slope Gaps:
#bins=350, #tiling points = 167 #bins=350, #tiling points = 167
Time Taken: 7.53002 sec (0.1255 mins) Time Taken: 7.53002 sec (0.1255 mins)
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